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x=a,F+b,G+e, y=a,F+b,G+e,

u=a,F+b,G+e, v=a,F+Db,G+e, x |y | u | v | w
w=a,F +b,G+e, 1 | x| x| w | v | w
Cov(F,e,) = Cov(F, ey) =...=Cov(F,e,) =0 2 | Xy | Xp | Up | V3 | W
COU(G, ex) _ COU(G, ey) = COU(G’ ew) _ 0

n | xXp | Xpn | Un | Vn | Wy
Cov(e,, ey) = Cov(e,, e,) =+ = Cov(e,, ey,) =0

Cov(F,G) =0




S.2 = a,2sp2 4+ b, sz +V(ey) oo . Spl=ay?sp? +b,%s:2 +V(ey,)

Sxy =0y Ay +by by. Sy =y Ay +by by voe « S, =a,a,, +b, b,
S,P=8°= (el =85,°0=1, St =5=1
Sxy = Txy-s Seu =Teu ~000 s Sow = Tow
2 2 _ 2 2 _ 2 2
1=a,"+b,"+V(exs 1=a,*+b,"+V(ey) - . 1=a,“+b,” +V(e,)
Tey = QxQy +byby, . Ty = ayay + byby oo .« Tyw = apa,, + b,b,
— 1
A
a,® + by 0.857 Ve |  FHBEFTHRAINSEH S
=[IFH M LERBA TESHRER IR
ayZ + byz 0.780 V(ey) — E E‘]%%@%fﬂ'ﬁlﬁ@ﬁﬁ&
BHZE=DEAEDTEL
a, %+ b,* 0.749 V(e
a,? + b,” 0.820 V(ey)
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HFZBHWEEELEL TExcel DR Y —ILEZETT

¥ BN | S| EKE(EE| @M= W iy ~ O | HEE =
71 | 64 | 83 [ 100] 71 #E | EHE ¢4 | EKE|EE
34 | 48 | 67 | 57 | 68 ElE#fEt . o
58 | 59 | 78 | 87 | 66 B 5 B R 0.926 - *
56 | 50| 76 | 87 | 66 L::> REFRMR 0.857| 0.780| 0.749| 0.820| 0.232
69 | 56 | 74 | 81 | 66 IE R2 0.819
64 | 65 | 82 | 100 | 71 BERE 6.638
16 | 45 | 63 | 7 | 59 A% 20
59 | 59 | 78 | 59 | 62
57 | 54 | 84 | 73 | 72 AR
46 | 54 | 71 | 43 | 62 BHHE T SEL BBIShi-H8tt HEF
23 | 49 | 64 | 33 | 70 | @R 4 3963804 9909509 2248765894 3.42E-06 axz + bx2 + b 2:0780
39 | 48 | 71 | 29 | 66 RE 15 660.9965 44.06643 5 yZ
46 | 55 | 68 | 42 | 61 &5t 19 462438 _
52 56 82 67 60 au + bu + bv - 0.820
39 | 53 | 78 | 52 | 72 R¥  EENRE t P-{E TBE 95% _EBR 95% B 95.0%.EFR 95.0% 2
23 | 43 | 63 | 35 | 59 Eilay -42.0268 34.18899 -1.22925 0.23791321 -114.899 30.84532 -114.899 30.84532 a + b
37 | 45 | 67 | 39 | 70 X fE 1 0.884543 0.489277 1.807857 0.090720372 -0.15833 1.927412 -0.15833 1.927412 w
52 | 51 | 74 | 65 | 69 X & 2 0.466475 0.427894 1.090166 0.292843906 -0.44556 1.378509 -0.44556 1.378509
63 | 56 | 79 | 91 | 70 X fE 3 0.287532 0.123252 2.332872 0.033990225 0.024826 0.550238 0.024826 0.550238
39 | 49 | 73 | 64 | 60 X fi& 4 -0.14688 0.357331 -0.41106 0.686841748 -0.90852 0.614749 -0.90852 0.614749
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FEREREK
Ry 2 R PN =5 rxy = axay +bxby=0 866 xu /= AxQy T Dx0y—U/0Q0, - >
3&% IE*;I' *iﬁ [s[=] [:[=]
X y u v w Tow = QypQy, + byby, =
#= |x [1.000| 0.866/|0.838| 0.881] 0.325
IEFl |y | 0.866] 1.000/0.810] 0.809| 0.273 %@szj_*l]
% |u | 0.838] 0.810/ 1.000| 0.811| 0.357 A )\ 5 ! 2
IER Y/ 2 2
:n v | 0.881| 0.809|0.811| 1.000| 0.444 Q — (axz + bx _ 0857) (ayz + by _ 0780) + v + (aWZ + bw _ 0232)

[E:E |w|0.325| 0.273| 0.357| 0.444| 1.000

2(aya,,

+2 (axay + by b,

2
— 0866 ) +2(ayay + byb, —0.838)% + -+

+ b,b,, — 0.444)?
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A 47 F B | BE | dHE  RiE | EiE
b i u Ll W
B |« | 1000| 0866|0838|0881|0325
EE |y | oses| 1.000/0810| 0809|0273
< Ju| 0838 0810/ 1.000|0811] 0357
#iE  |v | 0881| 0809|0811]1.000|0444
EiE |w| 0325 0273|0357 0444| 1.000
B | BE | Hs | HiE | EHiE
S ESR 0.857| 0.780|0.749| 0820|0232
EFRETH 0.857| 0.866|0838| 0881|023
R 0.866] 0.780]0.410]0.809] 0.
F 0.838| 0810/0.748|0 A57
0.881| 0809|0814 0.820] 0.444
A 0.325| 022310357/ 0444|0232
HF A //////
a /b/ At
09457 0014 0945| 0903| 088 08| 035
0903 | -0.087 0.014| -007| 009| 024| 037
0879 | 0.09%0
0901 | D244
0353 | 0370
AtA
0.894| 0853|0832| 0855|0340
0853| 0.820|0.788|0.797|0.294
0832| 0.788|0.781| 0814|0344
0.855| 0.797/0814| 0871|0409
0.340| 0.294|0.344| 0409|0262
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